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Question_1. (20 points)

1.1 Calculate the profit per cent when:
a) Cost price is E1.50 and selling price is E 1.80.

b) Cost price is 30c and selling price is 35¢. (10 points)
1.2 . Factorize a’-b’ (5 points)
T 7 2 2 .
1.3 Simplify e yCrpIatie wy-iale ( 5 points)
Question 2 ( 30 points)
2.1. Inthe Fig. below, UWR is a straight line ,RS =RW,ST=SW,WT=WU and
<R =<TSW =x".
Prove that WS Bisects <RWT and<TWU =x°. (10 points)

2.2. Express 22;: e Pg as a single fraction in the lowest terms. (10 points)

3x-1 _ 3x+7
3 12

2.3 Solve the equation ; + (10 points)

Question 3 ( 25 points)

3.1 Find the solution set of system of simultaneous equation. (7 points)
x>+ y2 -6x +5y =2
x+y=9

3.2. How long will it take the earth’s population to double if it continuous to grow at the
rate of 2 percent per year compounded continuously? ( 8 points)

3.3 Find ;he solution of exponential equation (5 points)
X7 =1/8
3.4 Find the solution set of logarithmic equation. (5 points)

loga®Y +log* =4
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Question 4 (25 points)

4.1 In the figure below, calculate the lengths of the chord BC. (7 points)

AR N8B £

4.2 Find the maximum and minimum values of y' - x> -3x* +4 ( 8 points)

4.3 The acceleration of a moving body at the end ’obf t seconds from the commencement of
motion is (9-t) meters per second. Find the velocity and distance travelled at the end
of 2 seconds if the initial velocity is 5 metres per second. ( 5 points)

4.4. Evaluate | 12 x3 dx (5 points)

END OF PAPER



